2yio |¥5-2 3 is:
V5+V2—7 V5+2  V7-2

6. The value of

2V10 V5-2 3 ~
T a7 T A e
aZ2+vZ b)2V5 V2 AT

%(ﬁ“x]—lﬁ'ﬁ)ﬁ_ JB+2 _ fe)
Mo = Bl

%
R
D —




17. What is the value of

1
123 |

1 1
L+V24V3 +|1—\/§,+,}§,

A1 b) V2 V3
lth-f2 I J2-f2
Brf-3  Bo)-3

= /KKE-)J% '—/(fﬁ’r)fé -2
275 “h

?
1-V2+V3~
$T HATT FIT 9T ?




~—

-1 13. If (V2++5—+3) xk=-12, then

what will be the value of k?

»J_Z%E—L—‘Ef I (V2+V5-V3)xk=-12, @
- 2, K &T HTeT FIT 19?2
"= 783 rﬁ/g ) VORI
1t2J10, = 2 ++V5++3)(2-10)
T //gf((ﬁwh\/?)(zwﬁ)

d) (V2 + V5 ++3)(2 - V5)

= 8RS ) @)
=3

D —_—



\AVhich of the following can be a rationalizing

factor (\/E ++/3 + \/g)?

(2 31)3 PR # & Fear (VE 43 + v5)
a b HT IRAFIT UNF  Fehell 87
2) (VZ — V3 — V)6
= g6 b) (VZ+ V3 + V5 V6
) o (VZ— V3 + VE)6
= 1 _AF(VZ + V3~ VEWE

| SSC CHSL, 27 May 2022 52 | 4



23 .
20. The value of 5v3 + 7v/2 — V6 — NG PN is:

5x/§+7x/i—\/€a~'r AT &
a) 0 b) 16 712 d) 10

2% (2K (2few)

/53;5%‘)%/—2 ’%/

-2
gy = ";J;{HZ%

D | |



Square root of surd










-l—ég)‘rs"('
‘18+2 _Str /3+2\/_ 2+ 1 (e Ux =[5~
’).X\ ‘Q\J———<5
f‘g zj‘s-»%AV
\/10"'4‘/—_ r‘\'Q S‘l+§g
- ___Q_ H

EV R FrEETY
/9 o2 F-E % — VA5 = S
EUTg?(G




LIf 10 —2VZ1++/8+2V15 =

ﬁ%/-r |5}-j{=ﬁ+ﬁ Jva+ Vb, whe7r§3 a and bs’(%re
positive integers, then the value of

vab is closest to:

3R V10 — 2v21 ++/8 + 2V15 =
‘73(‘5=j3—‘5 va++b, g a 3R b TFRICHS

T w3, L

a) 4.6 /,%;.9

c) 6.8 d) 7.2

| SSC CHSL 12 Sep 2019 Tier E}l



2. 1f/28 — 6v/3 = V3a + b, (where a, b are rationales), value of (a + b) is
I /28 — 64/3 = V3a + b & AN(STETa, b IRAT &AW §) (a +b) FT

HTel an Vg _’
a) 4 b1 Jo22 A2

Ji?—a jgi?

ATX|
= Jii— \
- 3)z-)

D 12



3 . The value of \/28 + 103 — \/7 — 4+/3 is closest to:

V28 + 10 3%—} \/7—2iz§a;rmﬁﬁﬁﬁﬁﬁ#ﬁraﬂ~'m
? X

a) 7.2| 2x5p) 6.1 i 26.5 d) 3.0

Jagrapea - [ 7-2  faxs

—

S‘fﬁ —g*ﬁ

SRR = 23y
733




Y. Find the value of V2 +vV3 +/2 — 3.
2+\V3++2—V3 & AW AT AT
Vel b) 6 2v3  d)2v2

[Hal [i25
2 2

_ B4 g
R
=3 _
& J6

SSC CHSL, 6 June 2022 S3



S.If x = 1+E —\/1—? then the value of
\
> J, \/\/;x (corrected to two decimal places) is:
_ lM-rZJ'%; ' +J>
E—_— uﬁx_\/ +£_\/1_§ S T
A AT F| (GAATT F & TUE) o qe)

a)0.19  b)0.25 ¢)0.17 /{0.27

2L
.S-?;‘\‘l f&‘ /%\' "){.\.I Jé;: - m

SSC CGL T-2 2020 15



26+7V3 23,”
JE (b—a)is: A
TR V38-5V3

26+7V/3 X%

Qa o 6.If /38-5V3 _ a+bﬁ, b > 0, then the value of
’ o

| SSC CGL T-2 2020 | 16



26-7V3 _ b+aV3
7 144573 11

value of ./ (b — a) ? M, 6

26-7V3 _ b+av3
= ,b>0 ,
V14+5V3 11 @
J(b—a) & AT fra«ar grem?
%5 b) 25 c) 12 d) 9

,b > 0, then what is the

| SSC CGL T-2 2020 | 17



8. The value of i/24 162 x \/4 + 24/2:

B [78 24 — 1632 x V4 +2V2: &1 A e 87
UQV\’& l%é a) 4v2 /ﬁ\/_ c) 4 d) 8
6 ® S A1 Bquwak Yoot

=1 4 - %ﬁxﬁf Ny

j ‘6 - :\)’%:'Z\rl




P 9. The expression V34 —24vVZ x4 +3V2

3\1';\ 233 simplifies to:
1 + ;;8,3 V34— 24V2 x4 + 3V2 HoF FT WIATH
el o L

c) 2 d) 2v/2

ICAR, 28 Feb 2022, S3 19



10, If x = 3 4+ 2v/2, then value of\/?—% is

MR x=3+2V2 & @ \/E—%f?
a)1 b) 22 /ﬁ d) 3v3

Jsz J ?;—flji—-) 2X)

Jaxl-J2+|




l. |fx=7—4ﬁthenf+%is

IMx=7—-4V3¢ ar \/—+_=7

a)1l b) 2 c)3 \}
_I_Z= ‘7-\;4“6- 2- ]"+2+r

2x2

=JT7-2fiz—ux3
5 k= a5

= 243

B I
Jo 213




.J—\/§+U;37+ 7+4\/§J
ﬂn 22 3 d)s
|7+Qj@%

= |‘J§>+‘4’rf2> U+

2+ [3
= d
m:' Q+ZM3
BENRAR

22



13, If V86 — 60v2 = a — b\/2, then what will be the value of \/ a2 + b?,
correct to one decimal place? .—5

<

| SSCCGL T2, 11 Sep 2019 | 23



1 2

V12 \/F
@/)’o ux3s l\a/)g 1%:' Jl()sz_"’“:;l)u4

ffi—zg“ INE "2l Jio+2]z

x>
_ I 4 | 2
ﬁ-ﬁ ls_ls ,!74\6

Fefs _ @i _ AR
5 2 Az

- FR-AtE o
= -%.0

n"

"

2




J— — H \/E
15. If x =5 — V21, find the value of\/m_\/ﬁ

@u‘fax=5—\/ﬁ?ﬁ X 1 AT qa13i]

VBT-2x 21
a); (V3 -7) b) 5 (V7 - V3)
o) (V7 +V3) AF= (V3 - V7)
- _ 3 F-J3 _ 1 (3R
f_= S-J-z—_,_= IO—ZJQ_I ﬁ 2 — =
BN J—z* i (-1 -03) WL b
- I7-I3
Jo |
Jz2-a% = [32-10-2/=
=J22—2J}| = J2-|

I —
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